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¢ I.Excel HO|E d&H

1. HO|g| HH

T EERT

2 ot0] [t LHE A= HE[1E M=

0| 0| X|of| M b3-ch1-3.xIsx T} S C}22

C D E F G
micro macro sum mean PF
98 82 95 91.66667 pass
92 80 90.66667 pass
45 75 56.66667 fail
100 100 83.33333 pass
95 95 90 pass
60 60 70 pass
30 30 30 fail
25 25 43.33333 fail
70 70 68.33333 pass
90 90 91.66667 pass
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Of 1:HI0[HE EdsS SH2E WEAI=22
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A B C D E | F
name prin micro macro sum mean PF
4I7|E 91.66667 pass
U&= 91.66667 pass
g5 90.66667 pass
EHESZE 90 pass
2AE 83.33333 pass
EEE 70 pass
O] &= 68.33333 pass

56.66667 fail

e ]|
A7|Z 43.33333 fail
30 fail
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Off 2: HIOIE{E prin(BHIH 2oIe{H CHS2| =A
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A B C D E
name prin micro macro sum PF
30 30 30 fail
45 56.66667 fail
100 100 83.33333 pass
70 70 B8.33333 pass
390 pass
43.33333 fail
70 pass
91.66667 pass
91.66667 pass
90.66667 pass
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. dplyr
dplyr T 7| X| =
HiolE] X e2|Th do
dplyr I 7| X| £ install 5}7| $I5iA1 Console Z0{| A inStal|.packages(”dplyr")% I
dplyrOll A F2 A8t B4k O12TH 28

-select() : E™ G(HP)S F&=

- arrange() : HIO|E{ & QEX=0|L} L& XI=2

filter() : Z7E Fo Wg =5

- mutate() : 7| =2| HE(E)E 0]

p_

- summarise()(with group_by) :
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- YZ0f| M AHLHE 7a"i'-f 24E oojZ 2 EXF9| AHE g2
(1) select()
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o 2: prm-.-E'I macro77|'X| 'ﬂ'”i“doil e

O 3 : micro?t H|2|5t 4HEH

Ol 4 : GO|E(H+H)O| cro2 EL}

Ol 5:H+-HS HY

[




> select(df, prin, micro)
b3-ch2-1.R prin micro
a8 B2

92

library(dplyr)
name<-c("dI|&","&+S""ALS" "AANL" "2 SL","2BL" "2 S""LIE" "0 &
prin<-c(98,100,50,50,80,90,30,80,65,95)
micro<-c(82,92,45,100,95,60,30,25,70,90)
macro<-c(95,80,75,100,95,60,30,25,70,90) 0

> select(df, prin:macro)

df<-data.frame(name,prin,micro,macro) prin micro macro
28 82 95
100 92 80
50 45 75
50 100 100
80 a5 95
30 60 60
30 30 30
80 25 25
65 70 70
10 95 30 90
select(df, ends_with("cro"))

micro macro

82 95

a2 BO

45 75

100 100

95 95

&0 60

30 30

rename(df, 0| E=name\d M & Z=prin, O/A|Z M =micro,{A| @M =macro,&Z™=sum,Eo=mean,0| 35 35
70 70

=PF, st M=grade)
90 90

= select(df, -micro) ‘——_____——_____—____——_____—_“‘———————_____E?
name prin macro sum mean PF grade AR EE pa|EH HAESH =F A 0| oHE

98 93 275 9l1.66667 pass 98 82 a5 91. 66667 pass
100 80 272 90.66667 pass 100 92 80 90. 66667 pass
50 73 170 56.66667 fail 50 45 75 56.66667 fail
50 100 250 B3.33333 pass 50 100 100 83. 33333 pass
80 95 270 90.00000 pass 80 95 95 90. 00000 pass
a0 60 210 70.00000 pass 90 B0 60 70,00000 pass
30 30 90 30.00000 fail 30 30 30 30. 00000 fail
80 25 130 43.33333 fail 80 25 25 43.33333 fail
65 70 205 G8.33333 pass B85 70 70 68. 33333 pass
95 90 275 91.66667 pass 95 90 90 91. 66667 pass
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df$sum<-df$prin+df$micro+df$macro

df$mean<-df$sum/3

df$PF<-ifelse(df$mean >= 60, "pass","fail")

df$grade<-ifelse(df$mean >= 90, "A", ifel f$mean >= 80, "B", ifelse(df$me 0, "C", ifels
e(df$mean >= 60, 'D", "F"))))
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select(df, prin, micro)

select(df, prin:macro)

t(df, —micro)
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select(df, ends_with{'cro"))
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ol 1:
ol 2:

W

df #=% arrange(desc{mean))

name prin micro macro sum mean  PF grade
471 98 82 95 275 91.66667 pass
dEE= 95 90 90 275 91.66667 pass
L= 100 92 80 272 90.66667 pass
ZHEE 80 95 95 270 90.00000 pass
2[4¥ 50 100 100 250 83.33333 pass
ZHEE 90 60 60 210 70.00000 pass
Ol&+ 65 70 70 205 68.33333 pass
4 50 45 75 170 56.66667 fail
az 80 25 25 130 43.33333 fail
30 30 30 90 30.00000 fail

library(dplyr)
name<-c("dJI&","egxS""ALS""AAHY" "HSE" "HNEL" "2 E
"Il A" Y A )
prin<-c(98,100,50,50,80,90,30,80,65,95)
micro<-c(82,92,45,100,95,60,30,25,70,90)
macro<-c(95,80,75,100,95,60,30,25,70,90)

df<-data.frame(name,prin,micro,macro)
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df$sum<-df$prin+df$micro+df$macro

df$mean<-df$sum/3 df %% arrange(prin)

df$PF<—ifelse(df$mean >= 60, "pass","fail") name prin micro macro sum mean PF grade
. S o EHEZ= 30 30 30 90 30.00000 fail

df$grade<-ifelse(df$mean >= 90, "A", ifelse(f$mean >= 80, "B", if 23 50 45 75 170 56.66667 Fail

else(df$mean >= 70, "C", ifelse(df$mean >= 60, "D", "F"))))

W

2lA<¥ s0 100 100 250 83.33333 pass
Ol&== 65 70 70 205 68.33333 pass
IHSE 80 95 93 270 90.00000 pass
471F 80 25 25 130 43.33333 fail
90 60 60 210 70.00000 pass
a5 a0 90 275 91.66667 pass
98 82 95 275 Ol1.66667 pass
100 92 80 272 90.66667 pass

df[order(df$mean,decreasing=T),
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df %>% arrange(desc(mean))
df[order(df$prin),]
df %>% arrange(prin)
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